
EP6/PP6 Mounting Kit Assembly

IM-P703-06 
CTLS Issue 2

© Copyright 2022

3440250/2

Side mounting kit assembly 
is shown overleaf

Hardware identification

A Bracket

C Lever 20-30 EY3/PY3 only

D Lever 50-80 EY4/PY4 only

H Locator 20-30 EY3/PY3 only

K Locator 50-70 EY4/PY4 only

N Pin

P Spring

Q Spacer PY3/PY4 only

R U-bolt UBC only

S M8 cap head screw

T M8 hex head screw

U M8 spring washer

V M8 plain washer

W M8 nut

X M6 cap head screw

Y M5 nut

Z Nut, spring washer and screw supplied with EP6/PP6 positioner

Note :
Locator markings are specific to Spirax Sarco actuators.
For third party products, ignore locator marks and position pin to best match 
appropriate stroke mark on lever

Actuator coupling

UBC only

Actuator yoke or pillar

PP6 positioners only

Discard when fitting UBC

Positioner 
(PP6 shown)

UBC only

EP6/PP6 positioner centre mounting kit assembly
(Typical of EY3, EY4, PY3 and PY4, and optional UBC)

Fit pin into relevant hole according 
to stroke 20, 30, 50 or 70 (observe 
markings on front face, noting that 
locator 'K' has alternate positions 
for 50 stroke valves : use P50 for 
actuators with pillars and Y50 for 
actuators with a yoke)



IM-P703-06 CTLS Issue 2

EP6/PP6 Mounting Kit Assembly

Actuator 
coupling

UBC only

Actuator yoke or pillar

Discard when fitting UBC

Hardware identification
B Bracket

E Lever 10-40 UY3 only

F Lever 30-70 UY1 only

G lever 60-100 UY2/UY4 only

J Locator 65-70-75 UY2 only

L Locator slotted UY1/UY2/UY3

N Pin

P Spring

R U-bolt UBC only

S M8 cap head screw

T M8 hex head screw

U M8 spring washer

V M8 plain washer

W M8 nut

X M6 cap head screw

Y M5 nut

Z Nut, spring washer and screw supplied with EP6/PP6 positioner

Note :
Locator markings are specific to Spirax Sarco actuators.
For third party products, ignore locator marks and position pin to best match 
appropriate stroke mark on lever

Slotted locator alignment (UY1/UY3/UY4)

Valve >

C series QL Spira-trol

D
N

15
-

D
N

10
0

D
N

12
5-

D
N

20
0

D
N

15
-

D
N

10
0

D
N

12
5-

D
N

30
0

Stroke (mm) 38 50 20 30 50 20 30 70

Actuator

PN1600 A~R C~R

PN3000 D~L A~L D~L A~L

PN4000 D~L A~L D~L A~L

PN5000 D~L A~L Q~R D~L A~L

PN6000 D~L A~L Q~R D~L A~L

PN9100 D~L A~L D~L A~L

PN9200 D~L A~L D~L A~L

PN9300 D~L A~L D~L* A~L

PN9400 B~R E~R

TN2200 B~R E~R

TN2300 B~R E~R

TN2400 B~R E~R

< *	 Example : PN9300 actuator with 20 mm stroke, DN100 Spira-trol valve = 'D~L'
i.e capscrews aligned with 'D' markers and pin to left of centre (see Figure 1)

A, B, C, D, Q, E = cap screw markers
L = left, R = right

Pin right
e.g. C~R

Pin left
e.g. D~L

Actuator 
coupling

Capscrew 
markers

Figure 1

Positioner 
(PP6 shown)

EP6/PP6 positioner side mounting kit assembly
(Typical of UY1, UY2, UY3 and UY4, and optional UBC)

< *

UBC only

UY1/UY3/UY4 must be fitted and 
adjusted according to application 

- see table (bottom left) and 
Figure 1 (bottom right) for details

Fit pin into relevant hole 
according to stroke 65, 70 or 75 

(observe markings on front face)
UY2 only


